Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 11 - Inverurie and District

4,818

4

964

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Neil BAILLIE	Scottish National Party (SNP)	1,085
Colin CLARK	Scottish Conservative and Unionist	1,732
Marion EWENSON	Scottish Liberal Democrats	568
Sarah FLAVELL	Scottish Labour Party	206
Bryan STUART	Scottish National Party (SNP)	245
Judy Margaret WHYTE		982
	Total	4,818

Candidate Neil BAILLIE Elected with 1,085 votes, being in excess of the quota of 964
Candidate Colin CLARK Elected with 1,732 votes, being in excess of the quota of 964
Candidate Judy Margaret WHYTE Elected with 982 votes, being in excess of the quota of 964

Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Colin CLARK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil BAILLIE	0	0.00000	0.00000
Transfer to Colin CLARK	0	0.00000	0.00000
Transfer to Marion EWENSON	864	0.44341	383.10624
Transfer to Sarah FLAVELL	134	0.44341	59.41694
Transfer to Bryan STUART	37	0.44341	16.40617
Transfer to Judy Margaret WHYTE	0	0.00000	0.00000
Value of non-transferable ballot papers			309.07065
	Total		768.00000

N.B. The figures may not add due to rounding.

Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Neil BAILLIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil BAILLIE	0	0.00000	0.00000
Transfer to Colin CLARK	0	0.00000	0.00000
Transfer to Marion EWENSON	68	0.11152	7.58336
Transfer to Sarah FLAVELL	39	0.11152	4.34928
Transfer to Bryan STUART	885	0.11152	98.69520
Transfer to Judy Margaret WHYTE	0	0.00000	0.00000
Value of non-transferable ballot papers			10.37216
	Total		121.00000

N.B. The figures may not add due to rounding.

Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Judy Margaret WHYTE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil BAILLIE	0	0.00000	0.00000
Transfer to Colin CLARK	0	0.00000	0.00000
Transfer to Marion EWENSON	379	0.01832	6.94328
Transfer to Sarah FLAVELL	105	0.01832	1.92360
Transfer to Bryan STUART	153	0.01832	2.80296
Transfer to Judy Margaret WHYTE	0	0.00000	0.00000
Value of non-transferable ballot papers			6.33016
	Total		18.00000

N.B. The figures may not add due to rounding.